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(iftana + tan 8 + tany + tan 699 JI 2@

A.(1/3)

B. (8/3)

C.(-8/3)

D.O

Answer: D

o View Text Solution

2 4 2
gamma,delta 9R a # B # v # 6, OlAA—

0 tan(36
87. zrfﬁtan<_) n (1) _3 an(39) STAIBACI ST 27 alpha, beta,

(ii)jtan a. tan 8. tan~y. tan 699 I AT

A. (-1/3)


https://dl.doubtnut.com/l/_6SVCwVQIQLbM
https://dl.doubtnut.com/l/_i1Ot2ClYIuGQ

C.0

D.7

Answer: A

° View Text Solution
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0 tan(30
8s. Erfﬁtan(—) + (3) _ 3t0030) e g 2W alpha, beta,

gamma,delta QR a # B # v # §, OlAA—

1 1 1 1
ad g1+ (&
(i) tan + tan 3 * tan -y + tand

A. -8

B.8

C.(2/3)

D. (1/3)

Answer: B

o View Text Solution
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89. T cot § = tan(n — 1)0 2T ©K 4 -99 T -

Answer: D

° Watch Video Solution

90. M sinf = — % a3 180° < 0 < 270° VW
tan(g)-ﬂamm—

A 2

B.-2

C.(1/2)
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D. (-1/2)

Answer: B

° Watch Video Solution

0.3 sin(6) = — ¢ &R 180" < 0 < 270" W@
sec(%) — cot(%)-ﬂ?l’ﬂ'ﬁm—

A2+ /5

B.(—2++/5)

C.02—./5

D.v/2 + 5)

Answer: C

o Watch Video Solution
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92, f[JfG-1 823 — 62 + 1 = 0 TIIBACIT 9B ISt sinpi/18 |

fqqf©-2 sin6 = 3sin(theta/3)-4sin”(3)(theta/3), theta in Rl
A. fiqfe-1 51fda | fagfo-2 S1fde adr g2, faqfo-1-ag Sifde YT
B. fagfo-131fda | fagfo2 1fdd aqe f[aqfo-2, f[qfo-1-a7 5SS LT 7|
C. fagfo- 131f5d aar [gfo-2 f5E A7

D. fqfG-1 5150 A7 a3 fqgfe-2 7|

Answer: A

° View Text Solution

93, fYfo-1 9T fagew @IBAT @PRET @istpa )T 9% 271 [Jfo-2

A, B, C fagrow oA Bl a7e
A
cosA +cosB+cosC =1+ 4sin(?)sin(§>sin<§)l

A. Tqfo-1 5115 | fagfo-2 5ifdd aar g2, fgfo-1-ag Sfdd It

B. [Rqfo-1911da | faqgfo2 5ifdd ade f[qfe-2, [Aqfo-1-ag 6 AT 7|
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C. fagfo- 137150 93 f[9gf-2 76 7

D. fqqf©-1 51f5d A7 a7 faqfe-2 5ifdw|

Answer: D

° View Text Solution
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